Quiz 7

February 10, 2016

1. Irene owns a sports supply store with room for 50 badminton rackets.
She currently has 40 rackets in inventory and determines that they are
selling at a daily rate equal to 14% of the available capacity. Use y(t) for
the number of rackets in inventory after ¢ days.

(a) Set up a differential equation which describes the situation above.
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(b) Find the particular solution of the differential equation in part (a).
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2. Set up the mtegral ‘which gives the area between the curves z = y: -3
and z = 2y. nersechon \ 03
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